PORSCHE

_ _ Service
Technical Information 4
99/16 Eenu  AGO6

AGO6 - Checking Connecting Links on Front Anti-roll Bar and Replacing if Necessary (Stop
Sale/Recall campaign)

Model line: Macan (95B)

Model Year: 2017

Subject: Connecting links on front anti-roll bar

Issue: There is a possibility that the front anti-roll bar on the affected vehicles was fitted with
connecting links from a defective batch on which the mounting bushes can move out of the
mounting eyes.

This can cause rattling noises and can subsequently cause the anti-roll bar to stop working. If this
happens, vehicle handling may be impaired, resulting in oversteering of the vehicle, for example.

Remedial Check connecting links (lower) on the front anti-roll bar and replace them if necessary.

action:

Affected Only the vehicles assigned to the campaign (see also PIWIS Vehicle information). This campaign affects
Vehicles: 290 vehicles in North America.

Parts required

Parts Info: NOTE: PARTS WILL NOT BE AUTOMATICALLY ALLOCATED TO YOUR DEALERSHIP. ALL PARTS MUST BE
ORDERED VIA APTEC/PAV.
No parts are required for checking the connecting links (Scope 1).

Parts required for replacing the connecting links (Scope 2-5):

Designation

Part No. :
artNo _Use Qty

4M0411 317 = Connecting link Max. 2 ea. *

— Suspension/stabiliser (only if required)
N 105 707 02 = Hexagon-head bolt, AM 10 x 60 Max. 2 ea. *

— Lower connecting link (only if required)
N 106 999 01 = Hexagon-head bolt, M10 x 45 Max. 2 ea. *

— Upper connecting link (only if required)
N 102 861 10 = Hexagon nut, M10 Max. 2 ea. *

— Lower connecting link (only if required)

* The number of parts actually required depends on the result of the check and can therefore vary.

2016© Porsche Cars North America, Inc. Sep 20, 2016

Afte I’SBJGS Page 1 of 8




servee Technical Information
4 AGO6 env 99/16 echnical Informatio

@ Information

On 15.09.2016, Porsche issued a parts blocking notification with the number 00885/2016 for the
connecting links affected by this recall. Please make sure therefore that no connecting links with a
goods receipt date of 03.08.2016 are installed in vehicles.

The goods receipt date is shown as "WE-Datum” on
the packaging label = Checking goods receipt date for
connecting link.

g,

If there are still connecting links with the goods receipt .

date 03.08.2016 in stock in the Porsche Centre,
please send these back as returns specifying “Recall
campaign” as the reason for return and quoting the
blocking notification number 00885/2016.

-
I
LS -

O .,_:w::..."' @

\ mmibaas L
LR

- 4 i A

Checking goods receipt date
for connecting link

Required tools

Tools: Tool required for checking the connecting links:

e  Flashlight

Additional tool required if the connecting link has to be replaced:

e  Electronic torque wrench with angle control, 2- 100 Nm (1.5 - 74 ftlb.), e.g. 9768 - Electronic
torque wrench, 2-100 Nm (1.5- 74 ftlb.)
e 9900 - PIWIS Tester 3 0r 9818 - PIWIS Tester |l

Checking connecting links on front anti-roll bar

Procedure: @
Information

The procedure described here for checking the connecting links on the left-hand side of the vehicle must
be carried out on the left and right-hand side of the vehicle.

1 Raise the vehicle on alifting platform = Workshop Manual '‘4X00IN Lifting the vehicle'.

Sep 20, 2016
Page 2 of 8 AfterSales

2016© Porsche Cars North America, Inc.




: , Service
Technical Information 4
99/16 enu  AGO6

2 With the steering turned fully to the left or right, perform a visual inspection using a flashlight and
check whether the mounting bush (lower)= Visual inspection of connecting link -arrow - has moved
out of the mounting eye on the connecting link.

Visual inspection of connecting link
Result of check:

- (v) - If the ends of the mounting bush (lower) are flush and if the mounting bush is fitted as
shown = Visual inspection of connecting link -Fig. A, arrow-, the connecting link is OK = End of
check. Continue with Step 3.

- (X) - If the ends of the mounting bush (lower) are offset (= Visual inspection of connecting
link -Fig. B1-) or if the mounting bush has already become detached from the mounting eye on
the connecting link = Visual inspection of connecting link -Fig. B2-, the connecting link must be
replaced. To do this, continue with = Technical Information '4X00IN Replacing connecting link on
anti-roll bar".

3 Lower the vehicle and remove it from the lifting platform = Workshop Manual ‘4X00IN Lifting the
vehicle'.

4 Enter the campaign in the Warranty and Maintenance booklet.

End of remedial action.
For warranty processing, see = Technical Information '4X00IN Warranty processing', Scope 1..

References: = Workshop Manual '4X00IN Lifting the vehicle *

2016© Porsche Cars North America, Inc. Sep 20, 2016

Afte rSales Page 3 of 8




servee Technical Information
4 AGO6 env 99/16 echnical Informatio

Replacing connecting link on anti-roll bar

@] Information

« Onvehicles with air springs, the relevant air spring must be emptied using the Porsche System
Tester = Workshop Manual ‘4301IN Bleeding and filling the levelling system".

e The entire threaded parts of the axle must be tightened in vehicle position. Vehicle position means:
vehicle standing on the wheels, or the wheel suspension is raised with a universal vehicle lift.
Dimension = Dimension 1 - centre of wheel to lower edge of wing (rear axle shown) -1-, from lower
edge of wing to centre of axle corresponds to vehicle position. The current height can be found in
= Workshop Manual '4495TW Adjustment values for suspension alignment'. Always observe the
following points.

Dimension 1 - centre of wheel to lower
edge of wing (rear axle shown)

e Therequired vehicle position can be set by carefully raising the relevant wheel or wheel carrier.
e Use anintermediate layer (hard rubber)! Do not damage the brake cover plate.

e Fastening screws and fastening nuts are Geomet-coated and must not be greased.

Sep 20, 2016 2016© Porsche Cars North America, Inc.

Page 4 of 8 AfterSales




: , Service
Technical Information 4
AGO6

99/16 Enu

References:

5  Unscrew fastening screws = Mounting for
connecting link -1 and 3- on the connecting link =
Mounting for connecting link -2-.

6  Position the new connecting link = Mounting for
connecting link -2- on the anti-roll bar and shock
absorber fork and secure with the fastening screws
= Mounting for connecting link -1 and 3- using the
two-step tightening procedure:

e Step 1-Initial tightening: Tightening torque
40 Nm (30 ftlb.)
e Step 2-Final tightening: Torque angle 90° Mounting for connecting link

7  Lower the vehicle and remove it from the lifting platform = Workshop Manual ‘4X00IN Lifting the
vehicle'.

8 Enter the campaign in the Warranty and Maintenance booklet.

End of action required.
For warranty processing, see = Technical Information '4XO0IN Warranty processing', Scope 2-5.

= Workshop Manual '4X00IN Lifting the vehicle’
= Workshop Manual '4495TW Adjustment values for suspension alignment'
= Workshop Manual '4301IN Bleeding and filling the levelling system’

Warranty Invoicing

Scope 1:

Scope 2:

@ Information

The working times specified were determined especially for the performance of this campaign and may
deviate from the working times published in the catalogue of operations contained in PIWIS.

Scope 1 must be invoiced if both connecting links are OK.

Working time:

Checking connecting links on front anti-roll bar Labortime: 17 TU
Includes: Raising and lowering the vehicle on the lifting platform

Invoicing: = Damage Code AG06 99 000, Repair Code 1

Scope 2 must be invoiced if one connecting link was replaced.
Only for the following vehicle variants:

e Vehicles with standard suspension/damping (I-no. 1BA)

2016© Porsche Cars North America, Inc.

AfterSales ot &




servee Technical Information
4 AGO6 env 99/16 echnical Informatio

e Vehicles with standard suspension/damping with PASM (I-no. 1BH)

Working time:

Checking and replacing connecting links on front anti-roll bar Labor time: 52 TU
Includes: Raising and lowering the vehicle on the lifting platform
Removing and installing connecting link

Parts required:

4M0411 317 Connecting link lea.
N 105 707 02 Hexagon-head bolt, AM 10 x 60 lea.
N 106 999 01 Hexagon-head bolt, M10 x 45 lea.
N 102 861 10 Hexagon nut, M10 lea.

Invoicing: = Damage Code AG06 99 000, Repair Code 2

Scope 3: Scope 3 must be invoiced if both connecting links were replaced.
Only for the following vehicle variants:

e Vehicles with standard suspension/damping (I-no. 1BA)
e Vehicles with standard suspension/damping with PASM (I-no. 1BH)

Working time:

Checking and replacing connecting links on front anti-roll bar Labor time: 67 TU
Includes: Raising and lowering the vehicle on the lifting platform
Removing and installing connecting links

Parts required:

4M0411 317 Connecting link 2ea.
N 105 707 02 Hexagon-head bolt, AM 10 x 60 2ea.
N 106 999 01 Hexagon-head bolt, M10 x 45 2 ea.
N 10286110 Hexagon nut, M10 2ea.

Invoicing: = Damage Code AG06 99 000, Repair Code 2

Scope 4: Scope 4 must be invoiced if one connecting link was replaced.
Only for the following vehicle variants:

e Vehicles with air suspension incl. PASM (I-no. 1BK)

Sep 20, 2016

2016© Porsche Cars North America, Inc.
page 6 of 8 AfterSales




: , Service
Technical Information 4
99/16 enu  AGO6

Working time:

Checking and replacing connecting links on front anti-roll bar Labor time: 66 TU
Includes: Raising and lowering the vehicle on the lifting platform

Removing and installing connecting link

Bleeding and filling the levelling system

Parts required:

4M0411 317 Connecting link lea.
N 105 707 02 Hexagon-head bolt, AM 10 x 60 lea.
N 106 999 01 Hexagon-head bolt, M10 x 45 lea.
N 102 861 10 Hexagon nut, M10 lea.

Invoicing: = Damage Code AG06 99 000, Repair Code 2

Scope 5: Scope 5 must be invoiced if both connecting links were replaced.
Only for the following vehicle variants:

e Vehicles with air suspension incl. PASM (I-no. 1BK)

Working time:

Checking and replacing connecting links on front anti-roll bar Labor time: 80 TU
Includes: Raising and lowering the vehicle on the lifting platform

Removing and installing connecting links

Bleeding and filling the levelling system

Parts required:

4M0411 317 Connecting link 2ea.
N 105 707 02 Hexagon-head bolt, AM 10 x 60 2 ea.
N 106 999 01 Hexagon-head bolt, M10 x 45 2ea.
N 102 861 10 Hexagon nut, M10 2ea.
2016© Porsche Cars North America, Inc. Sep 20, 2016
AfterSales

Page 7 of 8




Service

2G06  enu 99/16 Technical Information

Invoicing: = Damage Code AG06 99 000, Repair Code 2

Important Notice: Technical Bulletins issued by Porsche Cars North America, Inc. are intended only for use by professional automotive technicians who have attended Porsche service training
courses. They are written to inform those technicians of conditions that may occur on some Porsche vehicles, or to provide information that could assist in the proper servicing of a vehicle. Porsche special
tools may be necessary in order to perform certain operations identified in these bulletins. Use of tools and procedures other than those Porsche recommends in these bulletins may be detrimental to the
safe operation of your vehicle, and may endanger the people working on it. Properly trained Porsche technicians have the equipment, tools, safety instructions, and know-how to do the job properly and
safely. If a particular condition is described, do not assume that the bulletin applies to your vehicle, or that your vehicle will have that condition. See your authorized Porsche Dealer for the latest information
about whether a particular technical bulletin applies to your vehicle. Part numbers listed in these bulletins are for reference only. Always check with your authorized Porsche dealer to verify the current and
correct part numbers. The work procedures updated electronically in the Porsche PIWIS diagnostic and testing device take precedence and, in the event of a discrepancy, the work procedures in the PIWIS

Tester are the ones that must be followed. © Porsche Cars North America, Inc.

Dealership Service Manager Shop Foreman Service Technician
Distribution . . o
Routing Asst. Manager Warranty Admin. Service Technician

Dr. Ing. h.c. F. Porsche AG is the owner of numerous trademarks, both registered and unregistered, including without limitation the Porsche Crest®, Porsche®, Boxster®, Carrera®, Cayenne®,
Cayman®, Macan®, Panamera®, Speedster®, Spyder®, 918 Spyder®, Tiptronic®, VarioCam®, PCM®, PDK®, 911®, RS®, 4S®, FOUR, UNCOMPROMISED®, and the model numbers and the
distinctive shapes of the Porsche automobiles such as, the federally registered 911 and Boxster automobiles. The third party trademarks contained herein are the properties of their respective owners.
Porsche Cars North America, Inc. believes the specifications to be correct at the time of printing. Specifications, performance standards, standard equipment, options, and other elements shown are
subject to change without notice. Some options may be unavailable when a car is built. Some vehicles may be shown with non-U.S. equipment. The information contained herein is for internal authorized
Porsche dealer use only and cannot be copied or distributed. Porsche recommends seat belt usage and observance of traffic laws at all times. Printed in the USA

Sep 20, 2016

2016© Porsche Cars North America, Inc.
Page 8 of 8 AfterSales




	toc
	Model line:
	Subject:
	Issue:
	Remedial action:
	Affected Vehicles: 
	Parts required
	Parts Info:
	Required tools
	Tools:
	Checking connecting links on front anti-roll bar
	Procedure: 
	References: 
	Replacing connecting link on anti-roll bar
	References: 
	Warranty Invoicing
	Scope 1:
	Scope 2:
	Scope 3:
	Scope 4:
	Scope 5:


